- . ‘

7] E:
Section-A / STHT-37 II-""JE
Mental Ability / =

<~ Choose the alternative which closely \3—The film director wants an actor for the oy

resembles the water image of the given
combination.

39 foehe %1 577wt T
S B ® Hq?g | e i ﬁ
BKS50RPE2:

 (A) BAR0BLYS' (B) BKSOMLES

\/z/éc) BK20MLES - (D) BRo0KLES.

In the question below are given three
statements followed by three conclusions I,
I and TI. You have to take the given
- statements to be true even if they seem to
be at variance from commonfy known
facts. Read all the conclusions and then
decide which of the given conclusions
logically follows the given statements,
disregarding commonly known facts.
Statements : All 'schools are colleges.
Some universities are. institutions.
No school is university.
Conclusions :
All colleges are universities is not a
&oss:blhty.
o college is university is not a
~ possibility. .
III. Some institutions are not schools is
not a possibility. -
Only I and II follows.
Only II follows.
Only III follows.
Only I and III follows,

I
IL.

T T

I, I 3% I |

G HHAT = 'é‘ﬂﬁiﬂﬂ%qé

=y B g | ot %! Tg 3R R

4 & fob feu T frsnst @ @ @ |1 g

T a2t Y VT F gY, fow T FHeH

mﬁﬁmmm l

HYA HicT & | H Al
W‘m%qﬁ% gl

1l TS G et T8l 8, I8 Toh AT

|
(A) Sheret 1 3R 11 3TTE0 T ¢ |
(Bg e 11 JTTE0T T € |

C) aet [11 HATHWI LT § |
'ED; et 1 311 ST L € |

MKP

role of Lucky who pegfectltg fits  the
description that appears mn the origpy
screenplay. He is not willing to conside
actor who do not resemble the character 5
he is described in the screen_H_llay, N0 Matter
how talented they are. The screenplay
describes Lucky as an average—sized, forty
something, red head, with deep brown eyes,
very fair skin, and a brilliant .srmle.ezi'he
casting agent has four actors in mind, -

'‘Actor 1 : is a stunning red-haired

handsome who is 5'9" and in his mid-
twenties age. His eyes are brown and
he has an olive complexion. -

Actor 2 : has red hair, deep brown eyes,
and a fair complexion. He is in his
mid-forties and is 5'5".

Actor 3 : is 5'4" and of medium build.
He has red hair, brown eyes, and is
in his early. forties.

Actor 4 : is a blue-eyed, red head, in
his early thirties. He’s of very slight
build and stands at 5'. :

TMER q&hH & &9 o affa o 2 |
ﬂﬁ%ﬂg % femm & SR FereR A £ |
IPFT 1 : T TMER @I Srelt ol
§SEH 3 W 5'9" 1 R 3R ag I
wey sftee a9 7 ] | Iweht arfd ut #

3 ITHT TT AT R |
AT 2 : o o, TRt e ek
TR TT R | 98 31T Wea =vefied oy o

%3&{5'5"3’“%|
3: 5'4" 3R HEA FHEHIS H
IF A A, ¥t Y § 3
3T WO e ad AR |
R 4 : I IR dgd 99 #
Hieft 2rfEl aren s St aTen § |
FEA AR SeehTS! 1 3 SR 5' 8

(A) 1,2 - '(B) 2,3

©) 3,4 - (D) None of these /
T Y HE T
o

mpy

-84 4
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Soham has invited his three friends ov
to watch the football game on his widee-r
screen television. They are all hun
but no one wants to leave to_get food.

By the time they are argui b
Wzo should ox?éler thegu ?c%odaz ou;

commercial comes on the television

screen for a local pizzeria that delivers

1zzas at home. e_phone number

ashes on the screen briefly and they all
try to remember it. By the time Soham
grabs a pen and paper, each of them
recollects a different number.

#1: All of the men agree that the first
two numbers are 6%— A

##2: Three agree that the third number is 2.

#3: Three of them agree that the fourth
number is 4. o

#4: Three agree that the fifth number is

eater than fourth number but less
than sixth number.

#5: Three agree that the sixth number is
6; three others also agree that the
seventh number is 8. .

Which of the numbers is most likely the

telephone number of the pizzeria ?

A) 6726548
B) 6724568
C) 6724758
D) Insufficient Data

T Ut 8 | BAF W I T
3 fore e & ot & e 39 a0 A B
FHIRE FQ & | 99 % g Hew AR
TS Yehdl T i Teh ATHT
&A1 TG I & | B
# 19t Y 39 3T & wewa € 6 el
g:{ %Iéizﬂaﬁﬁwzél
ﬁ‘?;ia;ﬁ‘%??n;mmm%ﬁsw
e e 3 o el S <ol s
YL R, AN B T AFAR |
T O e $h1
‘ﬁhmwﬁmmmw

=i ged a8 ?
6726548 (B) 6724568
%‘8 6724758 (D) 194TH

Mahesh is working with a friend to find

a location for the toy store he plans to

open in his town. He is looking for a

%ace that is either in, or not too far

om the center of town and one that
would attract the right kind of foot
traffic. Which of the following locations
should Mahesh’s friend call to his
attention ? :

(A) A storefront in a new high-rise
building near the train station in the
center of town whose occupants are
mainly - young, - .-~ childless
professionals who use the train to

mmute to their offices each day.
'\,GB’)/XD little shop  three blocks away

from the town’s main street,
located across the street from an
elementary school and next door to
an ice cream store. .

(C) A stand-alone storefront on a quiet
residential street ten blocks away
from the town’s center. )

(D) A storefront in a small strip mall
located on the outskirts of town that
is also occupied by a pharmacy and
a dry cleaner.

HRY U SR o 1Y HTH L &7 & 16 98
A TR § RaeiEl $i
A1 ST Tk | 9 Tk M1 SATE Sl qelrs
f R S A1 R S hg # W AT ST w5
9 B 3R S 9Et ThR % Yea Aty oy
Shita = | Frafafea # @ e wm w0
Tewl & i A IHT A SN BHET

<1feq ?

(A) W& % Hz § 37 WRIA & IH Th 75
Sl T # Th Heh IR qg
et g (RRhe), Trad = am
e &9 7o, Rwam W § s
TR & aTam Srferil ® ST % fyg
31 T ITFT LA £ | |

(B) Y&t ! 787 W% @ fl7 =t T ww
B | ghH, T Tl foeey
HSH & 34 IR AR Th IMFHAW 6t
TRFTEHRER -

(C)W%aﬁﬁm'&ﬁﬁﬁ%mm
AEHT q§F W & Hs-3ef

|

o

RITHE |
(D) IR & aTE0 506 H R ww
@qﬁaﬁ@mmﬁ@;’g
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While travelling in a Haryana registered
commercial taxi from Haryana to an
adjacent city (another State), your taxi
driver informs you that as he has no permit
for running the taxi in that city, he will
stop at.its Transport Office and pay the
prescribed fee of ¥ 50 for a day. While
paying the fee at the counter you find that
the transport clerk is taking an extra ¥ 50
for which no receipt is being given. You
are in a hurry for an office meeting. Under
such circumstances, what would you do ?

(A) Do not interfere at all as this is a
matter between the taxi driver and the
tax rities.

\ Take note of the incident and

subsequently inform the matter to the
concerned authorities.

(C) Go up to the counter and ask the clerk
to give back the money which he has
illegally taken.

(D) Treat it as a normal affair and simply
forget about it.

FRAT USiihd AT et | ghamm &

T F IR (R TH) T I6 = 9,

JTIYehT STt <TeTeh JAT9eh! g &
3G U 59 YR F et T <hi3 WAE
TET R, T8 3% UNEE e N TH IR TH
e % fore T 50 Fuifa go =1 sgmam =wem |
FRA W Yh < THT AT 9T ¢ o IR
ek T 50 AR o w1 8 Foreeh 15 wie T&i
{2 | 29 ATea Hifen & fore e A
T | Wi oitfRfot 3 s et 2

(A) foeiher gt 7 L Hifh 98 ool
W%WWM%WW
AT R |

(B) T W &M 3 aik 4 § daf
JrferemTicat st At < gET |

(C) FRA W I 3K oo & 39 48 &)

MKP

99 T & £l
Rk o =g st 3 srdu v

(D) & WM e 7 3 5a% Wi o
K e

I
|
I
|
4

7. You are a Professor in a University

: ar ing an e:xammatlon paper o
\ﬁ:r;igcel:ltar subject. One of YOui
colleagues, whose daughter is prepa,
for the examination on that subje.
comes to you and informs you that j; ;g
his daughter’s last chance to pass tpy
examination and whether you could hely
him by indicating what questions ar,
going to be asked in the examination,
the past, your colleague had helped yq,
in -another matter. Your colleagye
informs you that his daughter will suffe
from depression if she fails in thj
examination. Under such circumstances,
what would you do ? .
(A) In view of the help he had givey
you, extend your help to him.
(B) Report the conduct of you
colleague to the higher authorities,
(C) Explain to your colleague that this
would be violating the trust of the
University authorities and you are |
not in a position to help him.
ALDY Regret that you cannot be of any

g

-1 Ioud B 3R T I|eh Wl
w0 < Ry F i € |
(D) TBAET H 5 31y Ik g FH

TG TE R THa ¢ | Eﬁ,
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8 In a question given below there is a \

statement followed by two assumptions
numbered I and IL "An assumption is
- something supposed or taken for granted.
You have to consider the statement and
assumptions and then decide which of the
assumption(s) is/are implicit in the
statement. You have to consider the

statement to be true even if it seems to be at

( | _\__variance from the commonly known facts.
;:lLStatemept : The school has decided to
3+  rusticate such students from the school
who is creating violence and not
following rules in the school.

Assumptions: )

I. By rusticating students from the
school those students will never do
such things again in the future.

II.  This action leads to discipline in the
school. :

A) Only assumption I implicit.

B) Only assumption II implicit.

€) Either assumption I or implicit.
& Neither assumption I nor II implicit,

ﬁnmgmﬁ@w%ma

A) el YT I 3 i 4

EB;%ﬁgmHm |

C) 1 dI YR 137 11 fafifga R |

( ;wa‘runvnlaﬂwaﬁnmél%ﬁ%|
ki If in a certain code I\IIWIQ(&:

EQUATION is coded as ZF
then how is FORECAST coded in that
same code language ?

% W1 § EQUATION

H ZFJVMLRG & &9 & foram S
8, Tt 3t % W § FORECAST %1 8
Feag foan e ? ‘
) EROFTSAC (B) ULIVXZHG
(C) EFORSATA (D) VILUGHZX

-

Mind the missing number in the given

series following the same pattern.

QT sEen § guE ¥ w argEw w1
B e WA HIf |

29A1, 3CL8, FO47, 56JR, (?)

(A) 50U6 - \4B) 6NV5

(C) 50Veé (D) 60U5

‘the statements and decide
which of the following answer choice
correctly  depicts - the relationship -
between these two statements :
Statements :

I. The car manufacturing companies
have recently increased the prices
of mid-sized cars.

II. The Government recently increased
the duty on mid-sized cars.

(A) Statement I 1is -the cause and
statement II is its effect.

\(B) Statement II is the cause and
statement I is its effect.

(C) Both the statements I and II are
independent causes.

(D) Both the statements I and II are
effects of independent causes.

QI FeT 9 Si 7 o Preffea

A Y BN W TR A T AN %

Ao H R TR G AR

DY

I. %R i sefat ¥ ge @ § qem
AT <hl HRY hi il A gfg hr |

I, TER Y T @ F Aem AR 6

HR R YCH TG |
(A) gemm.%aﬂtwnmm
- |

(B) ;awnw%aﬂwummm
| |

(C) %Y1 3R 11 Q1 T FRU§ |

(D) % 1 3R II gl W6 HRON ¥
TS § |
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\}A company needs to decide whether to M below shown figure, count the
invest in a new technology platform or to

: : . iangles :
continue using their existing platform. number of triang )
Which factor should the company consider fe@m 3 ﬁgﬁﬁ H TN,
most when making this decisi?)n ’Y = Trq ﬁﬂ T '

(A) The potential benefits of the new

latform. : : ' Yo
‘}B)’Il)'he compatibility of the new A l"\

platform with existing systems.
(C) The cost of investing in the new

platform. .

(D) The potential impact on employee NG A5

e 78 g 8 g A (A) 26 e
T e sl @2 @3
2 l;}% A4 THT HTA B R HR o
R g 3T feaR e =nfge 2 - 15, —From the given answer figures select the
(A) TS F W o one in which question figure is embedded.
©) mwﬁﬁéﬁ%ﬁ%ﬂﬁ T & 7§ S pferal 7 & 3@ g o e

FHIR IATEHAT T GHIRIT THTE Afaa-fa g |

130 Six books - English, Hindi, Science,
Computer, Maths, and Sanskrit each
contains different number of pages.
Computer book contains fewer pages
than only two books. English book
contains more pages than Science book
but less than Sanskrit book. Science y
book does not contain least pages.
Sanskrit book contains fewer pages than (A4 |
Hindi book. The book which contain ==
third lowest pages contain 28 pages. —
How many book(s) contain more pages 4 —
than Science book ? © | (B
(A) Four (B) Two ©
(C) Three (D) None of these ‘

8 Te - SR, i, R, S, i
m m g g;@%ﬂg l)6./Choose the alternative which closely

' : . resembles the water i f the gi
ﬁ? %:;l .%mgg';@g wﬁﬁaﬁ combination. e e g‘l‘ven
Wﬁwﬁmgﬁlmﬁ 34 fordhed 1 72 = St Ry 1o g A
I& § 7l w0 [ 7 ¥ | gepa ERRCER b
Wﬁﬁﬁwﬁwﬁw i
:-!Hlff a8 gm; forel et @t = Ug %, GROBAP76ES

28zl - F) CKaBVbiGER

%Tgh;gaﬁﬁﬁﬂﬂﬁwﬁ sfts | AB) CUBBVBAGED

(A) TR ®) XC) cussvbioEe

(©) ¥l (D) A 7 e \P) cunsAbiees
MKP ' 6
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17, elect the alternative which re resents
\/fh; out of the five given be]owpﬂgures

18.

Wd the following infox:mation carefully -
to answer the question given below : .

dd

d gA) Grandfather

39
JTHiagt A
%ggilﬁﬁ?@ﬁwwﬂjﬁﬁt@ﬁ)

Shirap

which when fitted into each other would

form a complete square., ;
i & 7 e

HT T HL S
T f =1 wRiffes s@r 2 @

gA 345 B) 134
125 234

rom the given answer.figures select the

one in which question figure is
S s St 8 3 8 g v
3MThid AR 2 | 185
o @ |62
E‘ T/ 160
_- 10
w| A o AJr
oAl oA\

i) M * N means M is father of N.

i1) M — N means M is sister of N.

ii1) M + N means M is mother of N.

ivg M /N means M is brother of N. =
In the expression Q + D * P /N, how is
P relatedto Q ?

Grandsdn
Daughter

:ﬁc% (D) Son

T W Wfi?‘q;f o)

(i)M*‘NW@Tﬁ%M,NWﬁm%I
G)M—-N®H M, NRTGAR | -
Gi) M+ NFT S &M, NHI A2 |
(v yM/N®H JERM, NFITER |
=% Q+D *P/N#, P, Q& T
T Q! |

\

BEDL

(A) T
(C) a&

§ 5

(B
D)

20. a_town of 400- people, 185 speak
amil, 165 speak Punjabi, and 160
speak English. 40 speak both only

nglish and Tamil. 20 speak both only
Punjabi and Tamil. 10 speak both only
~ - English and Punjabi. How many people

speak only one language ?
4ooaﬁwﬁ§;qaswii, 185 afdrer S
165 9T Sierd &, 3160 3o
HEEES 31 et St S € |
20 et dTel} SR aftret S Sera 8 1 10
FHae] IS N e gl ieral § | fvan
TN el Tsh W91 Sierd &

(A) 310 201

(C) 210 (D) 301

1. ~Point B is 7 km to the. west of Point A.
Point C is 12 km-to the south of Point E.
Point A is 5 km to the east of Point C.
Point D is 8 km to the north of Point C.
Point G is 6 km to the west of Point D.
Point H is 14 km to the south of Point G.
If Shubham is standing 6 km to the east
of Point H and takes 1 hour to complete
6 km distance, then in what possible
time he would reach Point E, if taken the
shortest route ?

(A) 120 minutes (B) 180 minutes
(C) 115 minutes (D) 159 minutes.
fiig B, fiig A % 7 forrit ufem # § | fiig
C,RMgES 12 frfi R & 2 |

BRC S

g, @ FfgEw A
3T 36eh GRT T BIET TFAT o791 WY 2
(A) 420 e (B) 180 firre

) 115 fiFe (D) 159 fiFe

ﬁ.
3

Md suitable answer in place of question
mark. :
TR 28 % T W 30w IW 4T |
16:22::36: ? R
(A) 43
(C) 53

(B) 2
46
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+ (Q. No. 23 and 24): 8 persons from A to Hsit y 25" The school principal has receiveq

around a square table such that 2 persons sit in complaints from parents about bullying
the middle of each of the sides. The persons in the school yard during recess, H_e
sitting on one side of the table face the persons wants to investigate and end thjg
sitting exactly opposite to them on the situation as soon as possible, so he hag
opposite side of table. A sits on the immediate asked the recess aides to watch CIOSFIY-
right of E. G faces the one who is second to Which situation S.hOUId the recess aides
the left of B. 3 persons sit between A and G. report to the principal ?

Two persons sit between F and D (when (A) A girl is sitting glumly on a bench
counted from one side only), who is adjacent reading a book and not interacting
to E. Only one person sits between G and C with her peers.

(wpen counted-from one side only). A is not (B) Four girls are surrounding another
adja.cent to F ‘ girl and seem to have possession of
(TH. 23T 24) : A¥ H T F 8 A% T her backpack.

T A S ST ST B A3 § B 2 =afen (C) Two boys are playing a one-on-one
mw%mﬁaﬁﬁ | B % Th AR NS | . game of basket ball and are arguing -
iRl =1 7@ A & 3 faada ot 33 et ' - over the last basket scored.

FATZ 1A ES di gl Ja1 2 I.Giﬁrg@?@{- = ,.\LD){hree- boys are huddled over g |
=fs & AR N B%aﬁe@wm% W handheld video game, which isn’t.

aﬂIG%iﬁH%‘ﬂﬁ‘ﬁa%% IF@TD%W&T B supposedtq be on schoci)ligrounds.
s 838 e T T A PR o v, AES | | T P A R Aemewm % G
PretiGaichmmmwatsdard | - T89S @wen & # -
Sﬁa@aﬁtﬁﬁ%mﬁmlA,F%ﬁmqﬁ mw%%mﬁ;ﬁa?
: | ElE THH ,
oo e v v | S o s
i s L - Torm Teufer <t g wrerrrad =t 3 =R 2
&) C “@®) D | slah
©) F -\ Bither CorD (A) T TT5h! Th &9 T T Toherra vg
zmﬁ«rﬁaaﬁ%aﬁq'aﬁaﬁimarﬁs Eam?%m%m ST -
T TR WIS 7 aat '
(A) C B) D ] (B) SR refat wh 3tk et % ama-
‘/(C) F (D) MACAD } T g 3R T o @ R ook dnds
b Il;lc;w many persons sit between E and I © ;T:T%W%mﬁé ! Bk
. . TR Siel T TH-TH
%3 (B) 4 i T @ § i aniadt arehe TR W
(©) 2 " (D) None of these | TEERRE | |
E 3R F & nor frm afn 43 8 9 | (D) T g% 1Y A wer A e
(A) 3. (B) 4 | & amm i sl qud, mmy
©2 O wiawd | g & 7t g =i |
MKP ' 8 L
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—Dixa took a taxi to meet her three
friends for lunch. They were waiting for
her outside the restaurant when she
~ pulled up in the car. She was so excited

to see her friends that she left her bag in

the taxi. As the taxi pulled away, she and

her friends took notice of the license

plate number so they would be able to

identify the car when they called the taxi

company.

1: The four women seem to agree that

the plate starts out with the letter J.

2: Three of them agree that the plate
ends with 12L.

3: Three of them think that the second
letter is X, and a different three
think that the third letter is K.

The four license plate numbeis below -
represent what each of the four women -

thinks she saw. Which one is most likely
- the license plate number of the taxi ?

sfieft fean = <= & fo7g o <= wrfemt
g fiyem & foe 2o ot | 3 Wi & ot
3IGhT AR H @l off 1o 98 SR F Tehl |
Ig o el @ frem & foe s
earted oft foh 3rgn 3 2aeh A & Sie T |
H & = =t T, sEY ok IEeh
weferl 3 e wie ge W e e
s o SRt Shul Sl hicd HH W HR Hi
UEIH T |
1: SR AN 39 919 ¥ HeHd Tdid aidt 8
1o @iz 1 oot J SER A S R |
2: 3TH.Q i ggua € fF @i 120 &
T THTH B 8 |
3: I & dF Gt & 76 gou IR X B,
3R 311 i Al & o <o seRK B |
= @ 18 IR ahE e T guid §
T 9 wfgenati 3 @ 7% =1 = 2 fp
3G 7 <@ | ¢l Y AsdE Wi g
S W 8 ) e gad 31 2 2
(A) JXK 121 (B) JYK 12L
JXK 12L (D) JXX 12L

¥

8.

U

§ 2

>
-
9.

If inacertain code language DESERT is

coded as EGVHTU, then how is BUDGET
.coded in that same code language ?

afe foret fifeea e wmr # DESERT i
EGVHTU & &9 | fr ST g, @
I6t fe W § BUDGET i 8 Heva
Topan S 2 |

\A»CVGKGU  (B) CWIGHU
(C) CWGIGU (D) CVIGUG

ount the number of quadrilaterals in the

following figure : _ . 5 .
Frfefea mmpfr & s 6t ween i ;

(A) 7
ACY 10

\‘é/FoiTG\Ving- question consists of a set of

g three figures X, Y and Z. showing a

sequence of folding of a piece of paper.
Figure Z shows the manner in which the
folded paper has been cut. Choose a
figure which most closely resembles the
unfolded form of figure Z from the four
answer figures given below.

frfiea e # o SR X, Y 3

Answer Figures :

WW:

)\ )
(A) B

&—J—J . —

o — (o
oY o O

1 O

MKP
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\/S()./If a mirror-is placed on the line, then

which of the answer figures is the
correct image of the given figure ?

fe T W TH O @M WM, 1t @ 7 IR

Fpfet # & A W amply § 1 ey
F1 A wfafem 2

®)

i
SRS

< Which symbol will be on the . face
opposite to the face with symbol * ?
%

g@mﬁm%ﬁqﬂammﬁ#m
fsame R .
@ @ . $

- . $
4) @ (B) 8

©

&/ OF B S
. If mirror is placed on the line MN, then

es is the .

whicht of ef?}?sw?r fi .
correct image of the given figure
w&a&mﬁ%mmm@m,?ﬁag
W HAFTET § H BT o B
a@ﬁrwa@wﬁiﬁWM ?7 1

SHNAGAI E

N
(A) 2HVADAI * ~(BY TADAVHZ
(D) IAGAVHS

) IAGANHS |
. Arrange the following words as per the

order in dictionary :

WS H TEHRT A

ATAR A A G .
1. Successor 2. Successive
~3. Successful . Success
5. Succession
B) 3,5,4,2,1

V?C‘\)/i,S,LZ,l
) 4,3,5,2,1

MKP

@) 1,2,3,5,4

X

10

|

I’m; the given alternative words, select

the word which cannot be formed using
the letters of the given word :
T e e fevr wedi & @ 98 Weg g
fou T g & avedl w WM B
TN ST TR B
LEGALIZATION

) ALERT (B) GALLANT
(C) ALEGATION (D) NATAL

35 A man is performing yoga with his head
down and legs up. His face is towards
west, in which direction his left hand be ?

_(A) North (B) -East

(C) West (D) South

T et R = ot W I @ am
@ 2 | IqH q@ IREA H AR 3R,
g1 ST g1y fere femm # 2 2

(A) ST (B) g o |
(C) Ui e |

&
m the answer as per the code

provided below :

Assertion (A) : Clothes are not washed

~ properly in hard water.

Reason (R): Hard water contains many
minerals.

(A) Both (A) and SR) are trueand (R) is |

e correct explanation of (A).

(B) Both (A) and (R) are correct and

. is not the correct explanation of (A).

is true but (R) 1s false.

is false but (R) is true,

g

FH IR 3R A
SARNHYT (A) : IR o1 T F2 i T TE
i 9T |

SHRA (R) : HiR I § 36 GRAA R E |

(A) (A) 3R (R) A &1 § 71 (R), (A)
1 TE TR |

(B) (A) 3R (R) €Fi wdt € 7o (R), (A)
1 81 TR TR ¢ |

(C) (A) W&t ?, Afe (R) e & |

(D) (A) TTeTd B, SR (R) Wl & |

The average of numbers 0.64204,
- 0.64203, 0.&202, 0.64201 is 5
0.64202,

W& 0.64204, 0.64203,

0.64201 =1 3itad g
0.642021
0.642025

{A} 0.64202
C) 0.642022 D
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\g&/ What day of the week was on February 14, . 43~—Kunjan, Lila, Mehul, Nikunj, Om,

20127 Priyank and Queen are sitting on a
(A) Sunday (B) Monday circular dining table for a dinner. Queen
(C) Tuesday (D) Wednesday is not between Priyank and Mehul. Om
14 W, 2012 ) HHTE 1 4 1 e o1 2 s scoand o the lof of Gucen. Priyans
(A) TR (B) @WaR to the immeﬂiate rigl(}t of Kunjan. Who
. is sitting to the immediate right of Lila ?
(O HTeER (D) gHER (A) Mehul (B) Priyank
Mn a certain code language HOPEFUL (.C ) Kunjan (.D) Queen 5
is coded as KLSVIFO, then how is oM, e, ﬂg‘_'" ﬁgﬁ’ 37, fﬁ'ﬂ'ﬁ Sl
CAPTAIN coded in that same code = TH % 1%’“'{@ MR ST e
language ? | R4S E | Fff, Braies 3k Ager 3 g =&
afe forelt 2R e strwr # HOPEFUL %t 2137, £ ST P 1 TS & | e
KLSVIFO % ®9 ¥ fran wman €, ot 3t A % R R E | B, Ho 5
FE WINT § CAPTAIN #! 3% feag mg’gf' FIH AP IETR?
ST 2 | Y By B
(A) FZSGZRO  (B) GEGSRDQ (C) Fod (D) FH
m} FZSGCLQ (PyFZSGDRQ “ A certain number of students are
— Find sui A ) . standing in a straight line, and all of
qlllrclesti 231:::'; answer in the place of them are facing north. Arundhati is 19%
. e . from the right end of the line, and
mﬁg%mm:ﬂgﬁm@q | - Arvind is at the 15® position from the
392:15::521: 2 : . left end of the line. Both, Arundhati and
) 7 o 14 - Arvind interchange their ‘E)osmons, after
(B) o i which Kirti who was 24" from the left
© 17 . @yl ﬁ?d Aif-v 1.10(\1&,' at the 5t pqsitiorlx_I to the left
. : Ind’s new position.
\/4‘{. Qhoose the box that is formed from the students are there u? the line in ?:vtaln;any
given sheet of paper (X). (A) 45 '
@ (B) 47
£ ©) 49
L . (D) cannot be determined.
0 1 2 3 4 | WA AmsTAR
(A) 1and 2 only  (B) 2 and 3 only ST e s 5 8 O 108 s
(C) 3and4only (D) 1and 4 only %ua@ﬁaﬂxaﬁaaﬁ%mwﬁ
Fad 1 3R k|
(A) 132 (B) ¥aw 233 I | wgw fore, Rrash e i it amd
C) ¥ 334 (D) Haei 1 3fta BN 243 WM W oft o 3l ¥ TQ
2" Initially clock showed 1:30 PM, what T S 9 53 v w R | e
iy govill the time be after 1,44,356 minutes ? e T e 7
E@mﬁa@ﬁ 1:30 PM &9 @ 9, Y 45
1,44,356 e 3 =g a1 wwe 2 9 (B) 47
(A) 7:15PM B) 7:26 PM (C) 49
(C) 7:30 PM (D) 8:00 PM (D) Ryt 7t fan s awar } |
o 11 MKP
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457 Gamer Males who are Non-Dancer and
Indian are represented by which number ?

faemet gew it H-Feih (b 7El &) 3N
TR &, fore g@ gr gt e g 2
] Gamer fa=g!

2 mDancer:ﬁh;
o Male . 358

(A) 5

B) 7
- () 10 (D)“None/aTs 7l

Choose the box that is similar to the box

formgd from the

given sheet of paper (V).

39 gied H

St e e H A e A

T § | ——

Lo ,
(o) 1
@ o & &
(A) (a) and (b) only
B) () g%;ﬁt (lb)
¢) an only
(c) 3 (d)
(C) (b), (c) and (d) only
(b), () 3 (d)
(D) (d) only
@
At 3:30, the hour hand and the minute
hand of a clock form an

angle of .
,3:30@,@%&%&{5%&%

gg_ HIHIV A & -
éA; 60° ?{L 75°°.
C) 90° D) 100°

Find the missing number in the given

series following the same pattern. -
& T SjEer # qHH e 1 AFA FA
. §QH GG J1d T | | |
15,17, 23, 35, 53, 85, ?
(A) 9%+ 7755 13, (B) 112
(C) 120 . @) 127

RAYIST

S,

12

&)

and cut as shown below

In the question, a piece of pa;ﬁer‘is folded
e

in questions

figures. From the given option figures,
indicate how it will appear when opened.

T |, HI 5 Th Ihg

T B, S fos R e
wn | feu e fasmed

@ﬁﬁm%%mﬁ@é%’m

FIeT
# fegmn
q, Tarsd fe

| B

FA|

| ®

© D)

In the following ¢

uestion, statements are

given and these sta

tements are followed by

conclusions. .You have to take

the given

statements to be true even if they seem to
be at variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically
follows the given statements, disregarding
commonly known facts.

Statements : All the bottles are boxes.
Some boxes are bags. Some bags are
suitcases. ' '
Conclusions : .

I. Some bags are bottles.

II. Some suitcases are boxes.

I1I, Some bottles are bags.

IV. Some bottles are suitcases.

A) Onlyl B) Only Il
c; Onl¥ m. _ gD; None of these
# %Y Ru T & 3N T
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Section-B / WFT-§

Teacher Aptitude and Attitud

S,IAuppose a teacher asks students to submit a
home assignment. Students prepare the
assignment generally as written document
and submit to the teacher. Teacher
evaluates the assignments, writes his/her
comments/su%gestlons- in the assignments,
and returns back to the students. How
message is conveyed in this situation ?

(A) Non - Verbal Communication
(B) Verbal Communication
(C) Intrapersonal Communication

(D) Interpersonal Communication -
A #io % o Rrers ot @ 78 6 5
F % e g & | o@ SmHdR W ffea

TR 6 T rTFie QUR FE § o

TRreeh 1 o S € | Fvees et v
T B 8, WE R A R
oot /gema for@ar & 3k o = 9™
e & | 37 feufy # gew 2 R s 2 2
(&) R-1ifgs g=r (B) g TR

(C) IR @9R (D) Iiqaditees SR

| \5;/Verbal communication ‘involves
conveying message through
communication. 3 e TN

£A) personal appearancé and oral
e,  (B) oral and written
FE  (C) written and facial expression
D) ora[ and eye contact i _
eI HER & Ao
a%mémmha%l j =
(A) =frma sufRafy sikdfifgs
(B) Hiftgw 3R ferfaa
(C) fafRga =g H st
£5((D) Hifges 3T 37 dush
. ___ technique is used to understand
nature and behaviour of students.
A) Personal appearance
B) Posture

C
D

Gesture
Eye contact

A1 1 ITART BET & @WHE
3R SER ! g & f e smar & |
- (A) =fea e B) I
(C) TE-¥TE (O ¥ duh

4~

During the process of communication,

barrier creates faulty expressions,
poor translation, ambiguous words, and
inappropriate vocabulary. ,
A %hysical gB Socio-cultural
fcg Linguistic

Psychological
AR R AR SR,
: a, G mm HAHE TE 3R
bR H g |
(A) TR (B) a™IRTH-
(C) wNT-gaeht (D) TS

55./0xy en is represented by O;.’
 Which type of knowledge is it ?
A) Procedural knowle %e
B) Metacognitive knowledge
‘ onceptual knowledge
Factual knowledge: oy '
“SATFEAIS it OGN ST AR I
T TFRFIAL?
(A) fsraTH TH ,
(B) TESHIcHS A
(C) OheqTeHSh [
) ARTHD JTH

.56. Which e of communication helps
individuals and groups within an
organization to communicate for achieving
established organizational goals ?

Interpersonal Communication
Transrpersonal Communication
C) Small group Communication
D) Organizational Communication
TR I HER_TH ST & Wi
=afeAl 3R gl B Wl weeTE
g W WY B % e dEg w e u
HEAAI FAT R 7 .
(A) SR TR (B) TUAAREF HR
(C) TYWREAR (D) ATEATHS TR

\$7." Which of the following sentence is
incorrect in context to learning ?
A) Learning is Unitary.
B) Learning is individual and not social.
Learning modifies the behaviour of
(D) Te ine hoboe akiicl lif
arning helps to make choices in life.
Wi % T § AR § 9

|l
I T 8 7

FR | |
(D) i Ster & e heey F weg e @ |

- .
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.58 Which of the following sentence is \(

correct for ‘Teaching’ ?
(A) Carrying  out  activities
completion of syllabus.
" (B) Concerned with only growth of an
individual. |
(C) Form of intrapersonal influence
aimed at changing the behaviour.
) Simulation, Guidance, Direction
and Encouragement of Learning.
m ¥ B A A A H
i
(A) TIFHA T H o forg fefarterart
T h T |
(B) el T =A% & frend & weiftr 2
| (C) SHEER i TGeH o Ievd § UEieh
i BEICCT Kou R
(D) e T g, Avtew, fem 3

. In psychology, awareness is a concept

about

(A) the state of knowing, perceiving
- and being cognizant of events

(B) the state of knowing somethmg

for

60.

(A) students are actively involved
(B) itis well planned
(C) various situations are adapted with
different techniques
D) communication is not effectively
reciprocating
TRregor yrveft 1 8 5@
(A) wnﬁmm_gﬁsﬁiﬁﬁ—
(B) € g
. (C) Tt wftfaferat =1 faftrr aerefient
& fr ST 2 |
(D) ¥R T YIRS TE 2 |
L MKP

(C) State of being aware

(D) None of these »
FAMEHAT__ HEARHTH

TR 2 | o

(4) gﬁ?ﬁaﬁw, g 3R I B

(B) Fo TH R

@f?ﬁm B 6 R

(D) 7 & s TE '

Teaching is not effective when

is the major source of unhealthy
relationships.
(A) Anxiety
(B) Depression
(C) Institutional chaos
(D) Institutional stress _
TR Hedl 1 TIE €A g |
\ E; He{lge '
@) frm
(C) HEATT JATSThal
(D) F&ITIq q1d

\.64 The nature and quality of interpersonal
relationships greatly influence the ____
- and Z of an institution.
(&) environment, working
(B) environment, development
(C) environment, ethos
(D) environment, life
R Gan B wﬁr
&__ 3R
A) STATel, wi
) STTeRT,
©) HI?I'I’GRUT'
(D) ST, Gﬁ?ﬂ

T
FEE |

\63/ Which -hierarchy follows top- bottom
approach in an educational institution for

- decision making ?
-(A) Director, Principal,

’ and Teacher
(B) Principal, Teacher, Director and
- Management
¢€) Management,
and Teacher

(D) Teacher,

Management

forett fr mwﬁﬁméﬁ%mﬁw

Wu?m - ae g T STgER

(A) Fyes, wumEATEH, TEEA
| IS
(B) WHTIEATY, am,ﬁ%maﬁt\
LELCH :
’ i Sﬁ‘{

(C) weitH,
(D) e, NaTATEATI, Ao, yE

Management
Director, Principal

Principal,  Director,

14 o
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» %/Which are the two significant and crucial
factors for an Interpersonal Relations ?

honesty and trust
B) trust and respect
C) honesty and judgement
D) trust and respect &

. .udgem%:%oé; %N 3 -

qT TFER 3R
of the institution is a bridge to

maintain  appropriate
relationships between staff members and

management. .
ggg Supervisor

A) Head 1
Co-ordinator

@) Director

THIES

(C) frcw D) 99<9%

. ‘The SDG-4 education-2023 framework
on education emphasizes the inclusion of
.modalities for the foundation of quality
education.’ ‘ .
What is meant by SDG-4 ?

Social Development Goal
Sustainable Development Goal

A
B
' i%g Standard Development Goal
st System Development Goal )
o T & e ey
& dR-
I A HH WA AT R I -
SDG-4 T Fm 3 8 7
(A) WIS e M
(B) HwEw SIWTHE Ml
(C) e 2awrite et
(D) Rreew Samuiie M
“It is the responsibility of the to

keep relationships with students focussed
on Pedagogical goals and academic

o

requirements”
€A§ institute (B) head
C) students_ i %g?g;acher i
‘Rl @ TR ATS
T Higd BT & @Y wEe # S @
= 6 Rrder R 1

’ L3 - (B) :
Bem o

honesty and

professional .

15

68.” Which of the following are_the signs of

fostering healthy interpersonal

. ..-relationships ? :

. (A) mutual  respect and  share
responsibility

mutual commitment to goals

©

no_ willin _eiss to negotiate and
‘ ialogue
\/({)eng?l%? N respegct and - shared
responsibility & mutual
commitment to goals both
frfafea | ¥ W
el ! TGTET g b Hepd @ 7
O e e e
B) ©
| Ecg 0 IR Sraeta & wier gn
1 IS T01 T4 § | |
(D) TR _THTH R ETe il
_ gl % fore i wiergar gl
9. The teacher is responsible for maintaining
(or acquiring) ____not-only in areas of

personal interest but in all areas relevant
A) relations with others
1(3: ‘pedagogical knowledge
subject competence o .
£ 7 St e AR A S

to course goals or objectives.
well defined standards

:E%qm % @& A P % foe wEfes
AW Sl S T@H (I I

. is based upon specialized
study and training; it provides skilled
service and Guidance for a definite
purpose to a limited section of the
population for a limited period of time
and can be practised independently or
within an institution. ‘

¢A) Profession (B). Job

© Trainin%m (D) Vg%;kuﬁ]
I &1 9
TYTRA &; 98 Hift ety & fore srraret
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78~ Which of these is not a characteristic of
a profession ? , ,
'(/{)) A profession renders an essential
ocial service. .
A profession demands continuous
in-service training of its members.
C) A profession involves a code of ethics.
.ED A "profession does not demand
Irzl?lssesswn of a body of specialized
owledge and extended practical

training, - .

71 9 B 0 e R T 4 2

(A)aamgmwmr&mﬁmm
AT e | |

(B) @™ I T F _FR®
YrehTeltT SReTor <Y 7 et 2 |

(C) @™ # AR Gfgar A # |

(D) =HaE™ = 3 foria
TSR NRE & Bie 5 AT
H AT T FATR | |

L72. Which of the following is not

characteristic of a teaching profession ?
%; Involvement of intellectual operation

Transforming raw material into a.
ractical and definiteend
(C) Possessing ‘educationally

~ communicable technique

D) Lack of self-organization -
%I'Fl‘f?rﬁiﬁ ¥ S o e =eEe i
RvaTRig? |
(A) Sifge TaTe & e g |

‘ fafeem oid o sqe | .

(C) $feres ¥a & TR qehetien T | -

) SATCH-TTST <l FHHAT | _

“Professional development of teachers is
not an event, rather it is a process.” This

process is _ in nature.
e A; static EB% ‘continuous
i C) rapid D) slow
Lﬁ'ﬁT H1 SATTHIRG (Ih DIg Tl

T 8, afew afskam 8 |7 a8 whI
S wgqla; B 1”98

75.\/@1 statements from the below does

not show commitment of teacher
towards pupils and pupil learning'?

(A) Teachers treat all pupils inequitably

and with disrespect.
(B) Teachers treat all pupils equitably
and with respect.
g:é Teachers treat all pupils with respect.
D) Teachers treat all pupils equitably.
Ru o we § 8w W
it 3tk frerfiEt % aiftrm & wfa
ferer Y Tfcrergan wh weffa T& a2 2
(A) e ot ferenfiat 3 wmy @AM
w9 Y 3R AT S G TR FA G |
(B) 3reATaeh i % H1Y 9 &9
Y 3RHH % R SRR FA G |
(C) eamss it fenRfat & w1y wwm
Y FTTERHFA G |
e oft fyenfiEi & @ @ m
| FEERHAE |

M eacher’s commitment to Students’
well-being and learning is not through

A) positive influence
B) professional judgement
C) empathy in practice

D) maintaining strictness

FHETT % gy e it
Hersrgat FAET A TE B |
(A) cHeh THT
(C) e & Y
(D) 9%t §HC @

. What is STEM curriculum ?
(A) Science Technology Education &
Mathematics :
(B) Science Teaching Evaluation &
Mathematics

(A) &R x('BS'ﬁi'd'( (C) Science Technology Engineering & .
\/ff)% L (D) efied} \Mathematics s o
U In an  Educational institution Sociology Technology Education &

_commitment to the well-being and : Mathematics

development of all pupils is essentially QH'&%QH(STEM)WW%? '

demonsiated by o : A) TTEE SISl gy g Ao

(A) Teacher B} Principa () SIS o] TS

C) Management Director (B) WWWQ@W@W .

T WMeh s 9 ash (C) U159 eMiilel  SefifMaier T

THeTu IR i Sfcrergar s _ |

A TH T WeRia 9 @ | (D) TIREe St Togem S

(A) STEATIH (B) T LUEIEES |

(C) S ) B
MKP ‘ . 16 o
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variations  are | important

- consideration  with reference  to
dependence-independence.
A) Attitude EB Aptitude
C) Age N I%a‘lintergst
— i
fafeuand fem g _
(A TR (B) e
C) g (D) et

- How.does a student get socially mature ?

student can become socially

matured when he is exposed to a

few people with whom he/she is

comfortable and can develop his
thoughts accordingly.

(B) A student can become socially
matured when he is exposed to
those people who are sociall
mature so that he can pattern his
behaviour accordingly.

(C) A student can become sociall
matured when he is exposed to self

and develop an understanding of
society on his own. ;
(D) None of these

(B) T BT W ¥} whaed
el 31 AN % duh

Tk 98 I AR 3N TTER i

S &

During the process of students

learn to live up to the expectations of the

society in which they live.
Social Adjustment

B) Social Maturity
C) Social Growth
D) Social Justice

. % W A 3G TS h
ﬁaﬁq{@umﬁ@%%ﬁmﬁ@% |
(A) qmIe guEem
(B) EmTIeR qitasermn
(C) amfTes T
(D) "mIRTe =

17

&

helps student to know what is

desirable and expected from him.

(A) Providing motivation

(B) Providing a strict & targeted
atmosphere

(C)- Allowing students to do as per their

i sh (Flexible atmosphere)
(/B(;:oviding appropriate role models

BT I 98 I § Aeg wm R

- SHR R giw ot i R |

(A) SO IS T

- (B) W% 3R Wt sraramer wem e

(C) BTl ! ITH T/ HTHR H Y
A ST | (GRIeTo smaeon)
(D) 37 T FeH HeeT |

Mho introduced ‘Play way’ method ?

(A) Caldwell Cook (B) Froebel

(C) Montessori (D) Blooms

e @ ¥ (Play way’) Wgfa #
WA H 2 .

(8) FESTTH \BY PR

(C), iewdt (D) =

\.83.‘./Which factor influences that students

studying in . a secondary  school
understand that society does not expect

him to regress to childhood behaviour at
this age ?

\(ﬁf Concept of dependence-independence
(B) Self-control

(C) Stress !
(D) Social maturity Eig
®E W OHRE WIRE B R ow
mﬁmﬁmﬁw@mm%m |
% W 7 59 o & www S R
3N e Y Iwtie T wear 7

(A) Trivan-<aear Y srgumon

(B) 31eR -t

(C) 7=

(D) W aRws_T

MKP
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tch the following :
\/M'/I\ﬁ?s(t; -1 List - 11
(Parameters) (Description)
. Flexibility 1. Ability to set clear

expectations and
parameters for
. performance
Holding Ability and willingness
people
accountable * situations and change
tactics
3. Ability to support
guplls and to help them
ecome confident
independent learner
ability to provide clear
direction and to

enthuse and motivate

Managing
Pupils

Passion for 4.

Learning

85. 0
? .

1, expectations
relationships

voluntary

ing defines the

Yo —

©) c-
(D) d-4,a-2,
Which of the fol
concept of leadershi
A) influence, crucia
B) influence, expectations,
C) influence, relationships,
¢tfort
) influence, - voluntary effort, goal
achievement
fyfaiad & | T NG N EUT H
e S 8 2 .
(A) w1, TRoriere, Ieiie
(B) TE, IHIq, YU
(C) T, Feiy, W=a T ‘
(D) W, S fows W, wEd Sufey

MKP

to adapt to the needs of }

\'ﬂ&/ln leadership,

potenfial into reality.

transforms

analyst . (B) catalyst
(C) educationalist (D) facilitator ]

P i
Y | ' -
@A) fews . (B) IFE ‘Eﬂv
(¢ Fremamdt (D) v e ‘___E

87~ Match the following ‘i
List—1I List—II
(Leadership Myth) -(Description)

a. Everyone can be a, i. 4 Rarely

leader. ;
b. Leaders can deliv Not

results. necessarily
c. People who get i Not always

the top becomes

leader. -
d. Leaders are greatJ iy. Not True

coaches. -

$ifs:
S -1
(e forer) ﬁam

z e & St
b. ﬁmq&mmimﬁil ii. %T%mm
.ﬁr@w ST il TR AR

c ﬁa‘raq%%%aﬁ 11 .
d. ﬁmmwﬁrm@'a v, GEIEIR

(A) d-i,a-ii,b-iv, c-iii

g
\égg'/b-i,c-iii,d-iv,a-ii
a

- iv, b - ii, c- ii, d-1
(D) c-i,d-ii,a-iii,d- iv

i

o, TS N1 S wHA

8,8;/IJse of ICT for quality education was
highlighted by .
(A) NCF-2005  (B) NCF-2009

(C) NEP-1968 _ (D) NEP-2020

frer 3% fQ omEEE (ICT) %

ITAM W BT SehTST ST 7737 o7 |

(A) THEITH (NCF) -2005

(B) THEE (NCF) -2009

(C) (NEP)-1968

(D) (NEP)-2020

\

I
|
|
l
I
I
1

———
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'89. 'Below given are the strong basis for -
legderqh%p development. Ma%ch List =1
with List IT : '

List-I List-II ,
a. Responsible i. Possess a long term plan
Leaders for their school as well as
career and personal life.
b. Focus ii. Take psychological
' ownerships for their actions.

c. Ideation\ Needs recognition that

goes with success.

iii.
d. Credibility\ iv. constantly feeding their
- minds with new ideas.

H= fen I o 3 fore e amum
H |q?ﬁjlqﬁ§3-=ﬁn@rgh%aﬁﬁq:
-1

TEt-1T
a. NeR i. %+
Jar

b. Shiga
HET
c. SIEAT il U89 il S&a &t &

e GHeTAr & 9T S 2 |
iv. PR3 femmm =
BCEink- R kel
ga-i.i.,b-i,c-i.v,d-iii
b-ii,c-i,d-iv,a-iii
c I,c-1,d-] I
D) d

c-ii,d-i,a-iv,b-iii
Which of the followin

o

q

-i,a-i,b-iv,c—iii ,
are the

characteristics of leadership in an
/gducational system ? i
1. lead by example and inspiration.
ii. guide personal programs, but rely
on his decision. -
iii. produce  cohesiveness  without

which co-operation is impossible.

. iv. don’t resolve differences which arise in
FI K wing o on because priority is
HE s i e oy

cgntribyte t%l l the group
advancing useful suggestions.,
Bty %?q @ e e
it

by
]

i ISTETUr 3R IO A A+ | ’
. o e o
AR 37 Hae W st L |
iii. AR I w e fom wgEm

o B e 8 i
iv. TS 3 I
gaw%a%ﬁﬁamhmmﬁgﬁ%l.
v. 39N G B M wgrR THg |
wEETl
gA; i, iii, iv ' ng ii, iii, v
C) i,iii, v D) ii, iii, iv

92.

| 94.

|
|
I
|

19

91\/’1{ communication of leader’s vision,

making his/her dreams apparent to
- others and aligning people with them is

Management of Attention

danagement of Meaning
anagement of Trust

Management of Self

W HER, A YT i

T ST .l .
(A) S HTIEET  (B) 312 1 yeee
© 1 YEUA(D) = HT YEu

Which are the most essential factors in
A} 1
foll situation
- (€7 leader,
communication
(B) Irgawh, fRufy stk g=w

leadership ?
ollower,
. . situation
communication
ATVIH FRF FH A S 2
’ A
(C) Ta, fufa stk s=

and
and

follower, leader and situation
unication
(D) leader, follower, situation and
(A) Jrgart, e i fRufa

93/3»%1’ aaamﬁ,%lﬁraﬁttiaﬁ'

valuation that monitors the learning
rogress during teaching is |
Summative Evaluation
Placement Evaluation
C) Formative Evaluation
D) Diagnosis Evaluation

U % GRW Higw 6 i h P

(B) TEHE AR

(C) ¥fema (formative) Ferient

(D) “eTeh Te=tieh

According to Kohlberg a teacher can

instill-moral values in students by:

Laying clean rules of behaviour

Giving strict punishment

-Discussing moral issues with them

,Givihn.g importance to religious
teaching .

Sk , T e feniat o

T F- LU T

qhar g |
(A)W%gaﬁanml
(B) g EMT | _ »
C T Afereh el W == v |
Ebgqm&wﬁgftﬁ%ml

MKP
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Word communic_:ation is derived from
Jatin word ‘communis’ means__ .

(A) To make common

(B) Toshare

@/{exchange

(D) To mﬁ%\;

FOUREN Ul j‘;‘ums)é
(A) FER TR ¥ R

(B) HTEN & & fog

(C) Tafma = & foe

(D) T %A & ferg

MW students can decode the message

sent by an audio programme ?
(A) Through visualization
(B) Through demonstration
(C) Through understanding .
D) Through interpretation

STF T AT T g S T e H
PR FA T ERAL?
(A) SEATEEHHA A A o
(B) eI % AW W

Given below are the components 0f

communication process. - Select the

appropriate sequence. '

(A) sender, receiver, feedback, noise

(B) sender, receiver, medium,. noise,
feedback

(C) sender, message, medium, receiver
sender, . message, medium,

receiver, feedback, noise -

S SiEa % T i fg T E | T

varhu'nication starts = with  the

conceptualization and
sender.

(A) development of an idea

by the

V%deﬁlopment‘of message
) transmission of message

(D) receiving of message :

99,

Bg | | |

(A) frem s farm (B) e o R
ToxT % HeRw (D) Te™ WTH HT

communication carefully

plans the message and delivers it

effectively - so as to invoke self-

communication among students.

(A) Intrapersonal erbal

(C) Non-verbal (D) Interpersonal
| G ST & G < AT

100.

BE % o IAA-FIR Jrga™ foa

(A) IR (B) HiE=

() -@fgw (D) .amium
Suppose you plan to teach a ‘content
(concept) using an audio programme.

 ATEH |

Then, you have to_ write the script.

required for the audio programme. So,
the content to be transacted in the

classroom is ___ . into script.

(A) Encoded

(B) Decoded . ."I"I'E-
(Q)/Both Encoded and DecodecEﬁa

(D) none of these

iR s
m%ﬁﬁﬁ@ (e
wﬁﬁzﬁww@ l%m
e S 3 T s e e
Rt T ;.

(A) THISS

(B) gla?l%g |

(©) 2 T AT

(D) T AHE T -

I
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Section-C / 91T-9§

General Awarenes

\m of the followmg presents the

most significant feature of .the Indus
Valley civilization 7
urnt brick buildings
First true arches
uildings of worship
Art and architecture

(D) Fem TR Fregehet
102. The Brahmanas are books that deal with

(A) the Bhakti theory @'f ritualism
© :;ﬁ%? % ﬁ EHD: medltat::n
(A) g d  (B) HHhis
) T (D) &= &
The paintings of Ajanta depict stories of the

fA Ramayana ahabharata
C) Jatakas - Panchatantra -

3reieiT <5 fort et foh A ea g 7
(A) TH™OT B) AR
C) a%h R CER :

104, Freedom fighter Shri Surajmal Basaniya

belonged to )
\%3 ikaner gg; Banswara

Jaisalmer Jodhpur
Tl S aﬁmw@m Y
gé; LlETE (B) SiwatST
O D)
Me Ashoka pillar at Allahabad prov1des
information about the reign of
Chandragupta Maurya
B Chandragupta I
Samudragupta 4
D Chandragu ta I1
ww fopess waATe

%g ¥ AHT WG HTT R ?
(B) =ISH JeH

e mlghgyouﬁ]ateways found at the

temples of
.ﬁﬁ {A?pstlalsl d ars Ind{gf%f;ume'gms
‘ M%as tiﬁ'&DﬁNone (_);éhe;elﬁ
wifererreft ™
(A) Rrer ;_ﬁ_%w
(C) # R (D) 3 |

21

Which of the followmg ruler known as

“Abhinav Bhartacharya” ?
A) Rana Prata

ana Kumbha
. Hem Chandra, Vlkramadltya
D Maharga Suraj Mal

fra wmaw W “AlFa
ARErR” 3% 1 A ST ST 8 ?

~ (A) Tom YA
(B) TIOT ST
(C) =g e

D SR
e ‘August Offer’ of 1940.sought to
concﬂlate the Congress by guaranteeing

A) the setting up of a_ representative
( )Indlan b(g)dyp to frame a new

constltutlon
%1 overnment’s assurance to protect
e political rights of minorities.
© thgt there would be no partition of

) that separate electorates would not be
provided for the depressed classes:-_

1940 o ‘INT TS
Wmﬁm@mmﬁﬁﬁwﬁl

(A Houw wH % foe
\Wﬁﬁﬁ? W TR =6t T
(B) m % Toifas SRR 6
T % fTT SRR T AvEEE
© W?ﬁraﬁéﬁw B
(D) <fora =it & fore st ﬁaﬁ?ﬁ Hea
| g &l fopa e
109./ The northernmost limit of India is
gAg 36°4' N latitude g; 37°8'N latitude
C) 37°6'N latitude (D) 36°12'N latitude
W <! Hedt It e
(A) 36°4' N W
(B) 37° 8' N &
(€) 37° 6' N &risr
(D) 36° 12' N &t

yﬂ/World’s Longest Highway Tunnel above
10,000 Feet located on which national

hi hwa ?
? Vgag NH 18

& N 12
10,000 T & SR fowa it gaq it
T o fore Ui et W R R 2

(A) rr:mm‘3 (B) TSR 8
©) TSRt 12 (D) 18
MKP
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Vrli./ What is the most imdportant characteristic
of the islands (Indian) located in the

Arabian Sea ?

A) They are all very small in size.

B) They are all of coral origin.

C) They have a \égléy dry climate.

They are exten a?gn'ts of the mainland,

I 9k ¥ @ (R 6 ged
e RN ®IR? ‘
(A) T THR A TZABIR R |
B) Iefi e @ |

(C) 3% I ng |

(D) 3 THA sﬂ;g:’ %T:rﬂa g1
\,yrfm the heart of the Intertropical
Convergence Zone in the northwest, the

on
dry ot winds known as * ’
‘?K;}Itloo . ‘ &B; Marigo Shower
C) Nor Westers - (D) Blossom Wind
IJR-TfPeH H_ R~ fieRy
8 % g #, Y& 3R T gEieh #
‘ CHEIHIAI QS |
(A) g

© - (B) M AR
(C) AR rd (D) =i o

\ /Hﬁ/lndla is the world’s largest producerof

(A) Groundnut (B Wheat -
(C) Rice - (D) Pulses
YR o foa W oweE
& I ; &
(A) drett B) M,
(D) gl

(C) <mae

4. In which of the following states,
Tumallapalle, where huge reserves of
Uranium are found, is situated ? :
EAZ Jharkhand B) Kerala
C) Tamil Nadu Andhra Pradesh

mmqgﬁw HER 1Y
ST &, Fetfaa 3§ @ frg Tew # fR@ e ?
N
(D)
\/[15/‘ ;

. Which of the followingstate has ared-
e

K|

wise the largest forest cover in

country as per FSI 2021 ?
adhya Pradesh

B) Gujarat

C) Karnataka

D) Andhra Pradesh

FSI 2021 % 3TJ8R

mﬁ_?am%%ﬁw@limimawﬂ

TAAR?
e (B) T

(A) 79
- (C) Fiew (D) 3%t S

MKP
| N
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146.~The Ahom tribes migrated from

g\g:ri Lanka Afghanistan
C) Myanmar (D) Iran
REEUGRIETIES ?
(A A (B) I

(C), =T (D)

. Which of the following was the first
Indian woman who went into space ?

A) Shirisha Bandla Sunita Williams
: C} Koneruy Humpy pana Chawla
o | I et TR Afgen off

ﬁmﬁﬁ%ﬁ? (B) T e
(A) Sqal (B)
(C) & gt (D) eI ST

Vlﬁ' Who of the following never became an

Acting President ?

o A; V.V. Giri Zakir Hussain
C) B.D. Jatti M. Hidayatullah
A ¥ B HHt FRiaES TFAfa
& &1 2 |
(A) e, fiik (B) et g9

- (C) < s (D) . feqrrgeae

I\Vmof the following ladies is popularly
~ known as “Grand Old Lady” of" the
independence movement ?

- Sarojini Naidu

Sucheta Kripalani

C) Aruna Asaf Ali

N Annie Besant : .

: % ¥ fha wften #t @
e “ie Iliee AL F T H A

TR ?
(A) TWRF TRg  (B) T HueTHl

. (C) 3 AWE IA(D) THawe
.. Which person is called “Bird Man of India” ?
Salim Ali
Dr. Rahendra Prasad
C) Dr. Srikrishna Singh
D) Salman Khan
" <! 4T T TS F FH A& ?
(A) wem Il (B) . g THE
(C) . sfipen fiig (D) Hew™ @H
1. Amjad Ali Khan is associated with

which - of the - following musical E 'll."‘:f
instruments ? 3
A) Guitar B) Veena

fc} Sitar arod .

3G IS T o o fope 9
LEGKLIECEN |

(A) fier (B) sfom

(C) Rar (D) e -
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\/Amnl ! Krlshnamurtl is

accomp 1s ed exponent of

E OdlSl

f (C) aﬁ%ﬁﬁ (D) mﬁﬁaﬁéﬁ

Bharatna
None of t ese

is famously known as Flying Sikh.
Maninder Sm Yuvraj Singh
andee Smg Mllkha Smgh

, % R & wm
(A) wﬁatﬁrs' (B) aﬁgﬁz

\I;A/gﬂe first Indlan Scxentlst to win a Nobel
Prize was

a Sen - .
aman
S} Hargobind Khorana drasekh:
uor manyan ndaraseknar
Wsﬁaﬁm@rﬂémﬁ

m

vi Kalidas

bindranath Tagore

C Mother Teresa

arath lyar
Wmﬁﬂ%«%&mm%?
(A %ﬁé@ﬁm (B) TellgArer 31T

AT
ich of the follovslrzg
a en

B
1D) Regugi};tlon of Glob%lﬂvéarmm&

s,

is the primary
the Kyoto Protocol ?
Control anthropogemc sources of
Eee ouse .gases

egulation of hazardous wastes

Amqma %nﬂ'ﬁﬁaa’m’rﬁ
()EF

B mmﬁm
Ecg mm%%ﬁﬁaﬁaﬁl

Gan e” project ?

eweralge Treatment Infrastructure
River-Front Development
er-Surface Cleaning

All of these ‘
(BThnﬁ IR & @ W A A 8 9
T ITAR ST~ T
B) -the g
%g) gat — TR HEHTE

9
FEd (B) @ ww
\/l/éz SP) '
5 i o I\I/IS a<}:1a11e as Shakespeare of India ? -

Regulate the production of nuclear

ich are the main pillars of “Namami

s

IZB/What is Ramsar-Conservation ?
(A) It is about conservatlon and wise
e of wetlands.
It 1s about conservation of forests.
C) It is about conservation of mineral
resources.

(D) None of these

T HE0T T R 2

(A) T8 awmﬁ e%fgm qor 3R fedepyf
|

(B) ﬁaﬂ%mm%aﬁﬂ% ,

(©) asaﬁawmﬁ%mm%a&ﬁél

w%aﬁémﬁ |
129, ich of the following Acts, deals with

the rights of the communities that dwell

.in forest over land and other resources ?
(A) Indian Forest Act, 1927

B) Forest Rights Act (FRA), 2006
) Indian Forest Amendment Act, 2019
\_EEE%; of these
T
A R S
RHRI & el g 2
. (A) W SRiREE, 1927
(B) a7 AR amﬁzm(FRA) 2006
(C) R = wneA rfafm, 2019

Maaﬁéqﬁ o '
Which . of  the following is the

convention to protect ozone layer 2

, A) Basel Convention
Bonn Convention
: S Vienna Convention

None of these

I T <Y T8 ﬁrﬁ'hﬁg'aﬁ%
T EHAT & ? s

(A)émwﬂm (B) 17 T
(C) Reediem (D) T & 5 7

i}l/ Which of these gases is not permitted to
be released beyond certain limits by the
Prevention and Control of Pollution Act
by the Government ?

A) Sulphur dioxide Carbon dioxide

éﬁ/lsﬁltrogen 8?3 None of these

Y 560 T ) THR GRT Teuor Frame
3R o arfifem qro ffeTe & @
AR TR T :ﬂatlﬁr e
(A) | STEATHTES
EBg e STEA AR
D) :ﬁ%ﬁiﬂﬁ

23
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\/{2. What is the impact of climate change on . \

rests ?
A) Increased biodiversity
B) Increased productwnty
C) Increased carbon sequestration
D) Increased wildfires and pest outbreaks
TRaaH

<1 A T T ST VS TR 2
(A) ﬁﬁwﬁ
(B) IedTGHaT H

S aﬁggé%mﬁq@

\133/'Ac1d rain corrodes the marble of the

monument. The phenomenon “is also
called .
@M?o_ growth gg% Marble evolution
Marble cancer Marble warp
AT T T H GHCR H G
wﬂ’r% | ST %ﬁara'rm% l
(A) FTOR R (B) TTHOR fe
 (C) TR (D) TR JfFHar

¢ Which of the followmg is not a heritage
site as per UNESCO list ?
(A) Keoladeo National Park
aipur city i
(C) The Jantar Mantar

D) Bikaner Fort
%mﬁwﬁaa -l q?ﬂaﬁ a:q‘r 3

m@mmqﬁ%? '
(A) T 3T ~
(B) SERIR
(C) SR "R
(D) sftepT <1 fehett

\_135. What is the State Da:g;/of Rajasthan ?

(A) Mundari Ghoomar
(C) Bhangra ©~ ' (D) Powada
TSI 1 TA TA R 8 ?

(A) et (B)

(C) WSt (D)

136« art of Rajasthan is a minute
on glass using gold.

\fa/im'mg
A) Devra (B) Thewa

(C) Phad (D) None of these
-~ TSR ( @g ﬁﬁ:m W
mm@ﬁgﬂ SEEAL
(A) T (B) &= #
(C) %8 (D) T8 A ¥ &
MKP
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137/Which of the following rivers drains into

Bay of Bengal ? ,

(A) Ghaggar (B) Luni

*(C) Mahi (¥ Chambal .
frfefea § @ 7 o 7 e A @né’r
H Rt 27

(A) TR (B) <t

(C) et (D) 59

. In which district of Rajasthan, Kalibangan,
a pre-historic site, is located ?

(A) Bikaner (B) Jaipur

(C) Jaisalmer (Dy Hanumangarh
TR R HieeT TSTe™ & o
fedfeag 2 :

(A) SRt (B) AR

(C) SEe (D) TIATTG

. What is the tagline of Rajasthan Tounsm Y.
(A) Land of gods
(B) God’s Own Country
(©) The Incredible State of India
(D) Full of Surprises -
TRYT i ht T 1 8 2
(A) s NHMEH
(B) Mg A Het
() qTHRA Re AR
e N6 TOIFIT
140. Who was defeated by Rana Sanga in the
battle of Khatoli ?
(A) Ibrahim Lodi (B) Akbar
Sikandar Lodi (D) Babur
- Gt % g & Tum |im 3 Rl T o ?
(A) s-mi%n WG (B) IFHW
(©€) W (D) W
e Tejaji fair is held every year at which
of the following places in Rajasthan ?
(A) Bhiwadi (B) Udaipur
(C) Beawar (45)) Parbatsar . - .
raTTeft Fre & et o # frfafea &
4 form v W SRR fr a8 2
(A) Pt (B) AT
(C) &N (D) WA= -

14
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~142. Rajasthan became the first state in India

to surpass GW of cumulative
large-scale solar installations. '

T WRA T U5l WET TS & 747
e R W W g ?ﬂtwﬁmﬁ;

‘ GWH URs o |
(A) 15 © (B) 10
(C) 20 (D)Y23

43. Sports For All (SFA) sporting services
joined as the powered-by sponsor of
which event ? e

V??/W omen U-19 World Cup .|
) Khelo India Youth Games
(C) FIH Women’s Hockey

(D) Khelo India University Games:
g_gq;ﬁ 3Ald (SFA) =i afdds frm

TS - T T w Y A MAAGE 7

(A) ST 19 TS HI
(B) Tt 3fean g

(C) THIETH A Eht
(D) T st Ifafdd i

1447 VAYAM RAKSHAMAH (We Protect)
\_is-tiie motto of which armed force ?
(A) Indian Coast Guard
(B) Indian Navy '
(C) Indian Air Force
(D) Indian Army
T TE (89 181 HLd 3) fore avre s &
T SATE - B ? . |
(A) YRAE G2 Wh (B) WA & -

(C), TR A & (D) IRAFT &1
" 145. Under which scheme of Rajasthan

Government, 12 sanitary napkins are

being provided free of cost every month

to women and adolescent girls for better

health management of women ?

&) Udaan (B) Shakti

(C) Pankh - (D) Pragya

TSI TR i fohd IiFT & aga

sl % IR WA yea & g
- migemel ot fRfEl wt w wER 12

Afred aRe Tw Yem R R £ 2
(A) SgH (B) WRke
(C) v@ (D) T

- In which of the following cities, Ayush

Ministry organised Scientific Convention

on World Homeopathy Day ?
aipur (B) New Delhi
| C) Bhopal (D) Shimla

o @ fora e # AR ¥
fova Brdefi '
m?ﬁw W iaﬁm
(A) SEgU B).
(C) wure (D) frrem

147, ~Which of the following airports in Karnataka

was inaugurated b ime Mini i
Narendragl\u/ll?)di onyZ7th FebruarySt‘?er o
(A) Mysuru Airport
(B) Kempegowda Airport

Mangalore Airport
(D). Shivamogga Airport
27 ®&E @ ggEEE o g 9 g
e ¥ Frfafea § @ frg ge-a
1 IS foma T o 2 |
(A) AEE TE-3T=
(B) ¥ TAR-3
(C) HTeIR gaTs-3TET

R gas-st=

W.)V%hich country is known as a tax haven,

14

has introduced ‘Federal Corporate Tax’
for the first time ?

(A) Finland- (B) Mauritius
%:ﬂ}lAE g) Switzerland

ToFH 291 1 39 B o ©Y W TSI |,
R vgell SR het@ wiORe. W
tior fRaT R 2.

(A) Teeis (B) AGwE

(C) 6 3Re 3 (D) Fgsiets

\149—Which city is the host of ‘5" ASEAN-

1

25

India Business Summit’ in 2023 ?

(A) New Delhi (B) Kuala Lumpur

(C) Dhaka (P)” Singapore City
HI T AR 2023 W 53 IRREAH-RA
SR REER-FHTA’ 1 AT ¢ 7

(A) 7 fewelt (B) FAHTEER

(C) @renl (D) RIEN

. TLMAL is a joint venture between India’s

Tata Groupand which country’s counterpart ?
gA) USA . %B‘?‘grael
C) France D) Japan

TLMAL WA % <Te1 99g 3R fohw 3u &
mm%aﬁa@ﬁgﬁﬁgﬂ%? o

(A) ITET (B) ™
©) wHE (D) U=

MKP
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Section-D / -
“English /

e

151. Which sentence contains an infinitive ?
A) She gave him the book.
B) They made dinner for themselves.
To sing is her passion.
' He saw the car accident.
~"Fill in the blank using appropriate forms
of the verbs out of the given options : -
Not only you but your friend also
to be blamed. —

are

A) is B
{,%/ has 2D§ have ~
ich sentence contains an appositive ?

“(A) Thecarisblue. .
B) My friend, a doctor, is coming to visit. |
She runs every day.
The movie was emotional as well as
thrilling. " Sog '
. Which sentence contains an indirect object ?
A) She bought a very nice book.
They showed him the way.
- (C) He played football.
The flowers bloomed beautifull

155 -Find out synonym for the underfliﬁed

- word :
Petrarch cultivated his fame and was the
first genuine Iiterary celebrity.
eveloped ~ (B) sequence
C) despair demonstrated
\,lﬁ/.( ich sentence contains a . transitive
verb? = : '
A) The bird flew away.
She slept soundly. :
C) The children played in the park.
D) He ate the pizza. L]
: ich sentence contains a co-ordinating
conjunction ? . . )
(A) The sun was shining bn%htl in the
sky since there were no clouds. -
(B) She had a headache, but she
continued to teach her students.
‘—fé) After she had finished her work, she
went for a walk.
(D) He is tall, dark, and handsome.
Department for military stores and
supplies is known as R
}A’é Ordinance B) Ordnance
C) Ordination (D) Ordinary
. Which sentence contains an adjective
clause ? :

(A) The girl who won the race was very

happy.
(BY He rode his bike to the store that
was very near to his house. '
, EC% She sang a song for the class.
D) We ate pizza and watched a movie.
\160” Which sentence contains a gerund ?
A) He enjoys running in tﬁe morning.
She is readm§ a book.
e

C)_ They played tennis after school.
The b?rd);ang a beautiful sogg.l

153,

MKP

vt@. %den i

“War and Peace” is a book by Tolstoy.
A) write B) “written
wrote (D) writing
ich sentence is an active sentence ?
The cake was baked by my mother.
e car was driven bK my brother.
he sang a song for the class.
The movie was watched by
everyone in the theatre.
ich sentence is an imperative sentence ?
A) I think we should go to the beach.
B Flease turn off the lights when you
eave.
C) He s readir(ljgba book about history.
They played basketball in the gym.

- Put the correct word from the options :
- 1 have been waiting here the last

H&ﬂ

162
- (A
B

C
163.

for

Can you pass the salt, please ?
What is your favorite colour ?

The sun s shining today. .. |
Wow! That was an amazing
performance!

the complex sentence in the
wing options. A 9
A) The dog barked and the cat ran away.
B) She went to the store after she -
finished her homework. ‘
(C) He is a great athlete who also excels
in academics. :

(D) They played soccer for hours and
then had a picnic,
167<” Which sentence is in the interrogative form ?
ome milk. ;
]
I E:

A
(&)
What time is'the meeting ?
D) He ran three miles this morning. :

lﬁ(Which sentence is a simple sentence ? .
%} The dog barked and the cat ran away.
The sun is shining and the birds are

smgm&. .
(C) T walked to the store and bought

some milk.
| &B/) She loves to read books and

magazines.

| 469, Which sentence has a subject-ver
agreement error 7 .
The boy and the girl is walkmgbto school.
B) The flowers in the garden are blooming.
C) He has two sisters and one brother.
e sings and dances on the stage.
together to UK

my request for travelling
A) turned down 213;

turn off
C turn on (D) turn out

The movie was very entertaining.
She. went to the store and bought

26
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17K”So.... that’ and ‘Such.... .that’ are the
hrases which express @3
A) Adverb clause of noun
B) Adverb clause of verb
Adverb clause of manner
dverb clause of result

\172. Which is the correct active sentence of
the following passive sentence ? .
I was taken to the public library by my
_sis fore I was able toread. =

Before I was able to read, I was taken
to the public library by.my sister. '

(B) Before I was abled to read, my

. sister took me to the public library.

(C) Before I was able to read, my sister
took me to the public library.

(D) I'was taken to the public library before
I knew how to reag, by my sister.

. Give one word for : Irrational fear of crowds

A) Sitophobia B lophobia
sc; Astrophobia éD%'}C)fal;strophqbia_
\/lﬂ{Choose the correct verb for the
fo_llowinﬁ sentence : T
~ Either the 'manager or the associates
the merchandise. -

v is suppose to order
D) are supposed to orders

5. A/An is a word of exclamatory,
expressing a sudden feeling or excitement.
(A) verb gEg’gadverb
C) interjection - (D) noun, .

%7{“The sun smiled down on us.”

The above is an example of

- (A ny
Metaphor - :
C) Personification. - .
D) Both __  (Metaphor)
." (Personification)
{77 Choose the correct meaning of the
idiom or phrase given :
e clean breast of
To gain prominence
To praise oneself

-and

To confess without of reserve
To destroy before it blooms

\/I{ Choose the one which best expresses the
iven sentence in Indirect speech:
anna asked Rohan, “Have you sat in a
troll is before 7’ :
. Manna asked Rohan had he sat in a
g trolley bus earlier. )
(B) Manna asked Rohan had he sat in a
trolley bus before.
- (C) Manna asked Rohan if he sat on a
trolley bus before.
(D) Manna asked Rohan if he has ever
sat in a trolley bus.

[u] ' 27

lmd the correct word to complete the

following  proverb and  familiar
expression - '
Strike-while the is hot.

iron (B) water
C) metal - D) book

}80./Choo_se the most appropriate articles for
the given sentence;
heavy rainfall last week was
disaster _to crops that were already 1n

dismal state.

\,(?i)‘No article required, an, no article

required .
B) no article required, a, the
The,a,a | _ :
(D) The, no article required, the

18" Which of the following best expresses
the same sentence in Passive Voice :
Do derstand what I mean ?

at I mean is that understood by

ou ?
(B) %Vas what I mean understood by

D) What I mean is understood by

you.?

MCh of the following options has the
correct order of words to form an
interrogative sentence ?

(A) A villian /was he/ not to do/ such a

deed ? B
(B) XVas he/ not to do/ a villain/ such a
e, .. deed - :
© %—Ie_'wag / a villain/ such a deed/ not
0 1 \
‘Was he/ not a villain /to do/ such a

deed ¥
“l{No sooner had she read the telegram
, she fainted. = *

en than -
therefore there
\164. ~What is the meaning of the word
* ‘vernacular language’ ? '
A) formal language
B) informal language
foreign language
native language
5. Use suitable prefix to make the opposite
- of the given word :

ou?
%C{ },s what I mean understood by you ?

‘Contented
A) im B) in
into dis

. Which one of the following is an

example of “Collective noun”
é;/Bog . B) Man
: 5 Federation D) Milk

187 Which word is ‘an - antonym for
ienerous ?

X .
423 Kinheared (B} Brmcvaree
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the passage given below and answer the
R::sdﬁonspfromg ue. No. 188 to 192 b?r
choosing the answers from the given options :
Reading is an essential skill that students

need to develop in order to be successful in their
academic and professional lives. It 1s important
to remember that reading is not gust about
decoding words on  a  page, ut about
understanding the meaning behind those words.
" Reading comprehension is the ability to
understand, analyze, and interpret what you read.
There are several strategies that students

can use to _improve their reading
comprehension. One of the most important
strategies is to preview the text before reading
it. This means looking at the title, headings,

and any pictures or graphics to get an idea of

what the text is about. Another strategy is to
ask questions as you read. This can help you to
clarify any confusion you may have and to
stay focused on the main ideas of the text.

It’s also important to note that reading
comprehension is not just about understanding
the words on the page, but also about making
connections between the text and your own
experiences or knowledge. This can help you
to remember the information better an
apply it in different contexts. p

Finally, reading comprehension is a skill
that can be improved with practice. The more
you read, the more opportunities you have to
develop your comprehension skills. So,
whether you’re reading for pleasure or for
work, take the time to practice and improve
your reading comprehension skills.

"188. According to the passage, what is
reading comprehension ?
(A) The ability to read words on a page
(BY"The ability to understand, analyze,
and interpret what you read
(C) The ability to read quickly ;
(D) The ability to write about what you read
What is one strategy students can use to
1m§rove their reading comprehension ?
(A Onlty read the first and
sentences of each paragraph-
B) Skip over any pictures or graphics
Preview the text before reading it

D) Only read texts that are easy and
familiar

. Why is it important to make connections
between the text and your own
€xperiences or knowledge ?

- (A) To confuse yourself

[ To remember the information better

and to apply it in different contexts
(C) To ignore the text

(D) To make the text : |
understand ext more difficult to
MKP

\189,

to .

last

\J&K&ccording to the passage, how can

reading comprehension be improved ?

(A) By avoiding difficult texts

(B) By only reading for pleasure

(C) By practicing reading '

(D) By skipping over any pictures or

) graphics _

t is the main idea of the passage ?

) Reading is an essential skill for

success.

(B) Students should only read texts that.

" are easy and familiar..

(C) Previewing the text 1s not an
important strategy for 1mproving
reading comprehension. :

(D) Making connections between the

text and your own :experiences 1s

not heﬁ,)ful for. = improving -
comprehension. :

Mne should oneself to whatever
circumstances one is placed in.

adapt  (B) adopt
(C) adept =~ . (D) acquire
7 What is the meaning of the word
‘quintessential’ ?

9"

N

(A) common = \(BY ordinary
) typical * (D) exceptional
. Socrates was _____ wisest of Greek
philosophers. ~

(A) the ..  .(B) a
an (D) no article
6. Which of the following is an example of

a preposition ? .

(A) sing .. (B) happy"
- _~(C)ywith 7 (D) qulljckly
‘d’% Which of the following is an example of
?. I:)on_]?nctlon? Fomy - - -
: 0 (B) because ol 2
beautiful (D) this & E:

\l-ﬁ(gect the word for the study of rhythm,

sound, pause, stress and pitc¥x features of

a lanEuage particularly .in poetry and
speech. RET

(A) programme prosody
prospect

’”/(C) (1?)’” protagonist
9. Which of the following is an example of
a possessive pronoun ?

(A) my (B) he
(.D)/glelt:)f these

200. He is here, ? Put question tag
(B) won’the ?

A) didn’the?
| g\C/))/ldsln’r; ltlee??

28 o

(D) needn’the ?

ey e pr——
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151.

152.

155.
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157.
158,

159.
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Section-D / {TT-§

Hindi / f&=<}

%Hﬁmﬁw-gmana;éﬁgg@

- TR b
TR-TW S S
(A) 91 - 9@ WIiRAYITRl - @R
B) RE-w T - Wl
(C) - fam ol - g
"(D) sﬁz ﬁ;ﬁﬁﬁ mg:@ ~ aTTed
W 1 AT FHEEd
%W !
(A) mmﬁmﬁ&ra@fﬁmﬁr

(B) mmﬁma@ﬁmﬁr
(C) d@

D) A am

TR I ~ HRTR 1 1Y @

(A) TR ¥ A

(B) SHR BIHEBEAT

©) fam e " i
D) T
ﬁw&«lﬁaﬁﬁ%ﬂﬁw%wmﬁ,
ITE qYT T (QUFAT) T ST AT R 2

(C) 9@ .~ (D) ¥hEE

ﬁwﬁ%ammaﬁrﬁa}aaﬁﬂﬁf%? »

(A) ¥ + fou@  (B) TH: + R

(C)W-'-mﬁ,-qqﬁ([%)m%m

‘Tl e TMR?

() ddEh  (B) FeFM

A A
GHTE ] IETET

(A) Hiehs (B) -Frfeerdt

(C) I .~ (D) FHCTE

ﬁsﬁaﬁhmmmmﬁ@m%?ﬁ

I FHEAE

(A) 9

161.

| 162,

(N

Fﬁ?tﬁ?ﬁﬁig%ﬂ angnﬁgn
A B
(C)ﬁaraamﬁ gD;WW

ﬁmﬁﬁaﬂ ﬁ‘ﬁm
WG W Eﬁﬁﬂ
3Rﬁ?\=n 4

- reftmaimhrc g E

163.

~ (B) TW R

164.

(A) 2,334 (B) 132
(C) 1,33R4 (D) 233
gmﬁmﬁamﬁmﬁﬁaamqﬁf

394 % e & ey
& Eb‘&’l W%%ﬂﬁmﬁﬁm
el

C) N ASHI AT ], TE AR |
ED% Ig YT 3T B T HfiaT 2 |

=R I g | e # @ e @ ge

- TR

165.

166.

(©) e |
gngrw Y G 71 37 M hl T(HAT

167.
1”68.

169.

170,

(A) BT = ) HIEH Raena |
(B) Tg M a5 g g1 AT | -
(C) T T TH R @ 3 |
(D) T 3T g 9 7 L & 2

‘Mw%ﬁqﬂugsmmqﬁ%v

1 ST — I
w%m l’ﬁS%W(B%

A T
S 5 e

FEA 8 -
(A) Yafd

MKP

G Scanned with OKEN Scanner



71 WA w v @ R fawm waen | 182, AR A TR R T a2 ?
: ?gmaﬁnmﬂm%

F 9 (A) =TTl (B)
S (C) =gt (D) ETERSD
(A) FEEHA T (B) TRE g.q‘. 183 @ 187) TG P TgH B T T
(C) FATE T (D) TEh T TR e
172 iR e TR agE e 7 A el RSRANARNIA ¢
k St 20 Rt % Qg F B9 H Goh, A1 T
(A) 15 (B) FE I 78 T, I 7 fonelt ;@am@g
(C) Rrem ®) T | ﬁsﬁﬁamaﬁfmﬁ-%m_m
173, SR TEE S AE A ¥ q THRE R TRE @ & S e ST ghm, 98 A
A) REa - (B) I - WY Rrt ¥t R B AT & T €] g1 Wl |
C) ¥va-wg (D) ¥4 - fogm mm@q@%ﬁmﬁ@mﬁ'ﬁﬁﬁﬂg
174, <y Ay 8 7 e @y e i | 8 mﬂ;%ﬁ%ﬁ?@ﬁ gl gl
@WETTH%? | < | oA <hl {TEHT A4 i
T8 B W & 37K AT AU QIR <hl 1T 7
(A) 3EqA (B) R FAR D FHGEE QA E | |
(C) TR (T I 3G, § TRYYT STTeT et BT o6 AT &
175. ‘3R 9% W HI e, Al 374 7 T@ | gu1 36 W FA &, ST e T
B I HR - . ST ST 1 S W & S Tt e
(A) F9=T HA - 3 5 3T ST <) g~ R & St @ |
(B) Hie SauH et e 3T ST HTH-T8 H1 HR A P F
(C) 370l Gharef et gﬁﬁ%ﬁﬁﬁmﬁmmﬁﬁ
(D) AT Hehal H AT W A,
B S ﬁmﬁﬁ@'yﬁ%}ﬁ
f |
(C) et 2 a8 (D) 'qﬁ:; ;o %wm%ﬁa?@ﬁﬁmﬁ
177. dfgaT=TSH SN E AT ) g Y- 3TTTh!
® e (8) R T
C) == (D) FHHR §ﬂ 3:{3]%( Rl fo-oft @ <t rf
178. AFTEaTE FaATH T ISR S AT & ? - R
(A) | .. (B) W% 183. I I GUYHR 1 WG 79 | &4 &
(C) M (D) ® |1 IREd T8 g ? E.ﬁg
179, ‘tﬁa%aﬁ 1 GHTETY ! ST et anefen (A) Rmed e
: I ¥ (B) gE-g@H MG AN |
(A) TETFH (B) | pLEtd
| (c;viaaz (D) vl © (C) TR T T R IS S |
180. mﬁmm‘-mw% - (D) Fer oo forer 3 fore et 78 |
o o 184, s ST fa-gft TS <
(C) -3 =T T wom | FeA-gh Ta-<h SR
(D) 3referch ATl g1 ) T I W1 WG 7 R 2 B =
181. Treferiaa 3 & fra Rrca H agm e 82 - (A) T $g 3 T T B |
(A) M QU HA R 3 | (B) 1 RRCSHT | .
(B) afe % w1 ¢ gam it Ram gt |
(C) SaTEy R B 9T Tl §EIE ) S | (C) T it gy < |
(D) 36 Tt ShTH 0 1T HAMT | . (D) 3r=a TRhI B
MKP 30 o
OOy pr———r
|

G Scanned with OKEN Scanner



185.

186.

187.

188.

189.

190.

191.

méw&@mmﬁm%ma

192, ﬁmﬁmﬁmﬁwmwﬁmﬁﬂﬁ
PR I TE@R 2 ?A)gﬁtamw
(A) ﬁnwm»mmﬁ%r | (B) =M . N
B) FAM RS @R g C) ﬁﬂﬁ%ﬁﬁﬁ R
(C)mahwmgq@wmﬁwﬁwm (D) W, Fg, i |
 wsgmERE 193. %ﬁmﬁ %g%%gg’mwma
/(D) Wwﬁm aﬂta‘q'wm ~ (A) THIET (B) Teieh
. Wymha R (C) umea (D) e
S =R 35 9 e e, Ak | O ﬁ??’gmwmmmﬁ?
il B
(A) SR HM BT | ‘
(B)méq&qpimal@fqgwﬁ (o) wm, , <h ‘
R 1~ g s 195. ﬁmﬁwﬁwﬁmww’mﬁ%?
(A) &, 74,30 :
(C) gtwgéw mmm FeeTaT (B) , UEA, U8
| FHfI S T | | (C) 1, T, 3TAhe] -
(D)Gﬁawﬁﬁtrsn%wvﬁ?mﬁséw | (D)W%qlm
FA | 196, o forere § Tt Sreg Tem wiEeTE € 2
K - (A) Hreh, ged, q@?ﬁ
mem§~ B (B) ¥, 59T, T|g9
- ~(C) T,
(A) TR W, ED)) @gﬂ
* (B) ot e T A e 197. mﬁmﬁw@ﬁm—wﬁ?
(C) mmER@r - - (A) S X gt
(D) sﬁm%uﬁwqﬁaﬁw . % WE'E' E”x[
e e 3 2 o 1 5191 2.2 198, %a %avéﬁah—gm%?
@s% . (B3 (A) s (B) whifed x Suehifd
C) %, T ¥, ©) e %:n (D) ¥t x ﬁmﬁ
mﬁﬁﬁfgqﬁi\hwm forw forepea  wet foelm-gm i & 2
g ) (A) TUE-TE (B MHI-HE
(C) @2 - (D) ed %ﬁf M (C) wa=-feryour, (D)§"h g™
Frefofga § 4 o = ang e | | 200. fru fomrer 4 wee-gm w1 ad-9g W
was - @ compoﬁeﬂ TR |
©.7 ©).4 gQ A mglqarﬁa AT afgﬁa
ferer foremea 3 weft Hy eafat § 2 éﬂ?g‘l A ﬁsi T - 31 - g
(A) &,7 (B) T, | (C) fawwoi- o=y wa= -rawiea
©) 3,9 D) @, 4 Sezq\w\(D) AR - AN HE -8 :
|31 | MKP4

.

!

(% Scanned with OKEN Scanner



